Algebra 1
w4d5

Solve each inequality and graph its solution.

1) 132>-11(-8 + 5)

-

Y

-10 -8 -5 -4 2

3) 2x+4x<10

5) —(m + 6) =—6-m

-5 4 -3 -2 -1 0 1 2 3 4 5

Name 1D:

Date Period

2) 8(5+a)>96

4 5 6 T &8 9% 10 11 12 13 14

4) —6(8 + 6x) <36 — 8x

-

9 8§ -7 6 -5 -4 -3 =2 -1 0 1

6) (8 —8k)—12>2(5k+1)

" " i

-16 -14 -12 -10 -8 -6

Solve each compound inequality and graph its solution.

7) 1<x+3<2

-—
-4 -5 4 3 -2 -1 0 1 2 3 4 5 6

9) 3<2m+5<17

N
—

- -7 6 5 4 3 -2-10 1 2 3 4

11) 6x>18 or 8x<-8

-8-7-6-54-3-2-1012 3 4 5 6

13) 17v+12>284 0or 19v + 16 < 16

-

<

-4 -2 0 2 4 6 8 10 12 14 16 18

10) 48<-5x-3<42

-

-0 -8 -6 4 -2 0 2 4 6 B 10

12) 8 +k>13 or 9k >-18

-1 0 1 2 3 4 5 6 7 8 9% 1011

14) 16a—14<-142 or —16 — 18a <322

1



Answers to w4d5 (ID: 1)

Dbz-4: 4+ 1 o > )N TN -
0 8 6 -4 =2 4 6 8 10 12 14
3) XS5 ! bbbt @ ——— > 4) X> 3 i Dbttt
0z 4 6 8 8 6 4 -2 0
5) { All real nUMDETS. | |  qomm—— 6) k<-11: B—————>
S 0 3 L6 -14 -2 -10 -8 6
7) 2<x<-1: >
6-543-2-10123 4356
8) 6<k<6: o o
8 6 4 2 0 2 4 6 ¢
9 -6<m<1: ,
5 -7-6-5-4-3-2-101 23 4
10) -9 <X <9 Ottt @
_8 —4 0 4 8
1) x<-3orx=>1: ¢ & °® >

§-7-654-32-10123 456
12) £> 500k <2 ! it @bttt
1012345678 9101

13) v>160rv<0: Sttt >
-4 -2 0 2 4 6 8 10 12 14 16 18

=
-

14y a<-8ora>17: @ ——————————— Ot




